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it is important that Sally records her financial transactions accurately otherwise

W
she will not have a clear idea of how her business is performing and how much

profit she is making.

Profit is the driving force behind most businesses, the amount of profit the

business has made is used as a measufe as to how well it has performed within

a set period of time, usually a year. At the end of the trading year the owner(s)

will asses how the business has performed by constructing a profit and joss

account, this is a summary of all the business transactions; it shows the fiow of

expenditure and income in the trading period. There are three parts to the profit

and loss account,

1.

2.

The Trading Account: this shows the revenue earned from selling products
and the cost of those sales. Subtracting one from the other gives the gross
profit. -

The Profit and Loss Account: This is an extension of the trading account.
Once the business has calcuiated the gross profit it can then calcutate
how much profit and foss it has made. This is done by adding in any extra
income and then subiracting expenses, such as advertising and taxes.
Subtracting the expenses from the gross profit then gives the operating
profit, this is a key indicator of the businesses tracﬁgg performance. After
this the business then needs to add any non-operating income, such as
dividends from shares held in other companies, to the operating profit.
Lastly they have to +/- any interest they may owe/receive, the figure
resulting from this is the profit on ordinary activities before tax.

Profit and Loss Appropriation Account: This part of the account shows
how profit and loss is distributed, most businesses retain a proportion of
profit for investment or precaution. Although businesses with share
holders are not legally obliged to pay dividends, businesses tend to give
share holders dividends o keep them happy, the amount that is paid in

dividends is decided by the board of directors, as scle traders, like Sally's

{J{“Di?

s
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business don't have shareholders ali the profit is transferred to the capital

account on the balance sheet.

The profit and loss accountpe‘eds to be kept accff/r/ate so that the owners can get
a clear idea of how much ;'{rofit or loss their business is making each year. They
also need fo be kept correct as some of the information is transferred to the
halance sheet, so if incorrect data is put on to the baiance sheet then the
resulting figures from this is not going {o give a true plc’iure of how the business
is performing. It is especially important for public limited companies and prtvate
limited companies to keep their profit and loss account accurate as by law they
have to produce their accounts for the public to view so they can get a true
indication as to how the business is performing, which is likely o influence their
decision as to whether or not they buy shares. For a sole trader there is a more
detailed list of expenses compared {o that of a limited company, this allows for a

comparison with previous years, so if they are not accurate the owner won't know

how his/her business is actually doing. v

The main, and most obvious reason why Sally needs {o ensure her profit and
loss acceunt is calculated accurately is so she can see her fmanma! situation,
whether she is making a profit or a loss. This is particutarly important for Sally as
her strategic aim for her first three years in business is survival, from the profit
and loss account she can see how much profit or ioss she has made. In a
situation like Sally's where she is a Sole Trader she would have a more detailed
list of expenses compared fo a limited company. This will allow Sally to make
reliable comparisofis with previous years if she keeps her accounts accurate
The profit and loss account also needs 1o be kept accurate for tax purposes 50
Sally isn’t paying too much or too little tax. If Sally works out her profit and loss
account before the end of her trading year (June 1st), she could use some of her
profit from that year to buy new stock, pay off outstanding bills or put it into a

pension scheme, this way her profit will be reduced which will therefore reduce

P
P, T

Exl
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e

o

her tax, Sally has to pay business tax as it is a iegal requirement and will be fined

if she does not. .

Businesses have a lot of legal requirements to meet throughout the life of their
business. Legal requirements concerning the business accounts help protect
shareholders and is designed to clarify certain financial information so readers
are not misled, it doesn’t affect the businesses decisions making or place an
unnecessary financial or administration burden.

The Companies Act 1848 and 1967 specifies what should be included on the
balance sheet including authorised and issued share capital, details of current
assets, debentures, mortgages, shott and long term loans, overdrafis, trade

creditors and taxation due.

The Companies’ Act.of 1985 and 1989 regulates public limited companies

concerning the preparation and publication of their financial statements. These

. . . 5 . f TR
businesses also have to submit a copy of their accounts annually to Companies’ "

House, as well as this, businesses with a turnover greater then one miilion
pounds are required to have their accounts independently audited. The auditors,
who are appointed annually at the general meeting, complete a repert after
examining the accounts. The report and financial statements are given to the

shareholders ai the annuai general meeting.

)

The Inland Revenue require a set of financial s0 that it can calculate how much  ves © =

corporation tax a business has to pay. Also Custom and Excise need the figures
from the final acc:ount'sto be submitted every three months so they can calculate
the VAT liability of the business. e

Saily’s financial records need to be calculated accurately as a legal requirement.
Sally’s records will be used by the Inland Revenue to help calculate how much
income tax Sally has to pay. Custom and Excise may also need Sally's accounts

to calculate her VAT, and the Department for Social Security may also want to /

@ on an A

o puad
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Unit 14: Constructing a Financia! Strategy 6

look at Sally’s accounts to make sure she has paid enough National Insurance
contributions. Sally would probably need to seek financial advice, such as an
accountant, in order for herto be certain that her records are accurate so she e

can avoid investigation‘é%nd wasting fime and money if they are incorrect. If Sally

fails to pay any of these or is found not to be paying enough, especially whilst

4

she is still starting out, it will affect her financially and she may be forced to sell Aot

some of her assets to cover the cosis.

The assets of a business are the resources for that business. It buys assets fo
increase the value of the company. On the balance sheet there is a summary of
all the assets ”fi(e business owns and what they are worth. Assets are valued at
their originai price minus the depreciation if the asset wears down over time. Its
fixed assets (which are resources with a life span of over one year e.g.
machinery) are shown on the balance ié"‘rfe divided into three groups, these are
tangible, intangible and financial assets. A businesses liabilities, the money it
owes fo other businesses for goods it has received on credit, can also be broken
down in to groups, current liabilities and long-term liabilities. Current liabilities are
debts due to be paid within one year from the purchase of gocds purchased on
credit these could he items such as corporation tax and overdrafts. Long-term
liabilities are also debts the business owes but these are to be paid back over a
longer period of time, the most oommﬁm-"example of this is a bank foan. It's
important to have accurate financial records when assets and liabilities are R
concerned as the business needs to know what it owns and who it cys/" mt; K
:f/,,,_
It's important for business o have accurate regords when comparing them to
previous years otherwise the comparisons%ﬁi be unreliable. By looking at
present and past facts and figures the business can %dentif\i/re%ccurring trends
and const?"’ffgt plans that either improve or build on them. If a business has RV
access to competitors financial records, for instance if they have to be dispiayed

for legal purposes like a pubiic limited company, then a business can compare
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how well it is doing compared to them which will help give it an idea as to its

position in the market.

o
o

P
If Sally keeps her financial records accurate then she can look back to previous

years and compare her records with present ones to see if her business is
improving or not, and to what extent. This is especially important to Sally-as her
strategic aim is survival. Comparing accounts will give her a true ﬁi'c“’tﬂ:e of how
her business has developed over its first few years in trading. Sally could then
use this information to construet a budget suitable for her business and its aims.
e
A budget is “a quantitative economic plan prepared and agresed in advance”
(Business Studies 3™ Edition: Dave Hall, Rob Jones, Carlc Raffo) There are
different stages involved in the prepara’tigg.of a budget as different parts of the
business provide different information‘tf;go into it. Therefore each i @dual who
produces information needs t?/erasure their information is accuraté)az in big
businesses it can be difficult t¢ find the source of the error. | have shown the

different stages in the diagram below (from Business Studies 3 edition) :
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Set budget period State aims/objectives

i
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!
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budgets

v /

Master budget

v
Projected balance sheet

¥

Cash budget

& profit and loss account

The first step to preparing a budget is to decide on the period of which it is going
to last, usually a year, and to state the aims and objectives of the business.
Information then needs to be collected either from past financial documents or
from forecasts depending on the business. Once the information is collected the
business can then prepare the sales and production budget, which are very
important as they are linked and affect all the other budgets. The sales budget
will contain information on monthly sales estimates and the price of
products/services. The production budget cannot be completed untii the sales
budget is done, the production budget wiil then go on tc show the materials and
tabour force needed. After these two budgets have been completed the business

should have an idea of whether or not it will be able to meet its sales targets, the

-
i

o
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budgets can be adjusted if need be. If not then the subsidiary budget can be

drawn up, this is the individual budget for departments within the business. The

master budget then goes on to give a summary of what has been agreed in the

whole process i.e. the projected figures. The cash budget can also be

consiructed at this stage which is particular useful as it shows the monthly flow of

cash in and out of the business. This will highlight any prob£§ms the business pihgsss 12 O3

| o
may occur, or flaws in the budget. v’ poti 2

As the majority of budgets tend to contain forecasts, which are estimaies of likely
future outcomes, based on historical data of the business (e.g. sales information)
and human judgement, problems can arise if sales data is not dccurate. This in

turn will cause the business budget to be incorrect. For the sale of new products

s
it is difficult to predict how they will sell so to help predict these figures a business eron | %
may undertake market reﬁse-“é'rch.

v
The business needs to get its forecasts and predicted sales as accurate and as
TP

realistic as possible otherwise the business will be following an unrealistic
budget. The consequence of following a budget that is formed upon inaccurate

tnforma’ﬁ_on, is that the business may end up spending more money-that it

" o o Bl
e S R oahdRod e, B

actually should have budgeted which can lead to financial difficulty. As well as
this they won't be able to calculate the variance accurg;;aiy {the difference
between the budgeted figure and the actual figure) {6 see if the business figures
are favourable, better than the forecasted figures, or adverse, worse than the
forecasted figures. if a business can't work out the variance due to incorrect
figures then the business can't analyse them and try to improve thei;‘pusiness gy o
financially. « i} 1

&

If a budget is produced accurately it can have many valuable benefits such as

being able to control income and expenditure and by setting targets which can be

. . g an et
understood and followed by employees lower down in the business. / ¥
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e
Saily will need to budget her money in order for her to plan how she is going to
spend herfgﬂoney, what she is going to spend it on and when she is going to
spend it "/By Sally having accuraie accounis he; budgets and forecasts are likely
to be much more realt’s{nc and easier to keep to. This will benefit Sally’s business
as she will be able to predact and plan for, in advance when she has little money
coming in and may need to obtain additional finance. frémen
o
Throughout the life of the business the owner is likely to need fo obtain additional
finance. He/she may be able to borrow money from his/her own personal bank
account or from a friend or family member. Depending on-the size of the amount
needed, the business may need to borrow from a bandthe form of a loan. The

bank will want to see the businesses financial recerds to assess, hoWw safe/risky it

. . . ,,f""y” k . . "

is to iend the business money, and to decndé on the pay back period. It is I
_ it 2

essential that these records are 100‘:3/acmrate for two reasons. f’““if o

The first reason is so that the business knows that it is going to borrow the
correct amoum/zf the figures where maccurate when working out the amount

needed it may end up borrowing to mﬁh’ wh:ch will result in it paying back more

interest ofi monay it doesn’t need, or it will not borrow enough, Wh!Ch will waste e
the business time trying to get the loan changed at a iaterjf/e»f 1“5 %
The segond reason is that if the bank discovers the records are not Eggr,ec’f"it may

refuse/:che loan as it will think you have something to hide. If the business is

regsed a loan when it needs it this could lead to seriii@anciai problems, or s @ pd
threaten future investments such as expansion. e %

If Sally decides that she wants to set up a website with a delivery service for her
school uniforms she may require some extré/ﬁnance to get her started. If her
a financial institution 1o obtain this money, such ds a bank. A bank would want to

see all of Sally’s financial recgrdé before they offer her a loan as they will need o 1t om o
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asses the risk of lending Sally money I the bank finds the records to be incorrect
-

this will reftect very badly on Saily»and may jeopardiserher chance of getling a

loan. The bank may feel that lending money o Sally is ng[gy as they might think

she is trying to hide something, this could seriously affect Sally in the future as 3
T b

ﬁa% % I?J‘

she feels the current size of her shop is restrictive, she may need to borrow a
large Joan so she can e>/<pa"ﬁ/d her business premises.

L
Business expansion is a major and expensive decision, especially for a small
business such as Sally Smalls. Its fiﬂangigiffééords will have a key role in
deciding if it will expand or not. If financial records are not accurate the owner
may be led into thinking that either the business does not have enough money to
expend, when it actually does. Or on the other hand it may think it has enough
money when i doesnt 1If Sally makes these mistakes it could rnifgyhér business

o @ )

as she will need to expand in the future as she feels the current size of her st @
e
business is restrictive, / fosn

The conseqguences of Sally’s business if is financial information is found fo

be inaccurate:

The Companies Acts 1985 and 1989, which are concerned with the preparation
and publication of financial statements, states that public [imited businesses are
annually required to submit a copy of their accounts to the Companies House.
Business that then have a turnover over £1milion are requf?gd to have their
accounts independently audited. The auditors, who are apbointgd at the general
meeting, examine the books and accounts and create a repo“ft/bn the accuracy of
the accounts so they can decided whether they give a truggcture of the financial
state of the business. The resuits‘“‘f;:)m this are given to the shareholders at the

annual general meeting.

As well as Companies House wanting a copy of the businesses accounts the

Inland Revenue also needs fo receive a copy so that it can calcuh}te how much
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corporation tax is due to be paid. if a business fails to submit its accounts {o the
intand Revenue they will try io chase therg,/-ti'p, if this fails or can’t be done then

they will be fined and could be prosecuied for nen-compliance, this wouid look

bad on the business from the publics po;nt of view and also if the business wants Con=Th
to borrow money from a bank in the future it could jeapardyts chances if they :
ﬁﬂ%i %

know abouf the incident as it makes them look unreliable.

If Sally, or any other busmess submits accounts that it knows are wrong then
they are committing fraud Ef they get caught then the business will receive a fine

and could be prosec:uted“’ However if the business simply made a mistake then it

is likely just to receive a fine for late payment and be charged on the outstanding

tax liability1f Sally did this it would weaken her busmess but of course depends  Lones
on the size of the fine. o~
If a business fails to keep accurate records it will not know exactly how much
money it has available to sp‘@ﬁi This may result in it spending money that it does
not have. As well as this it will not know how many debiors and %dﬁors it has.
These two points can have serious financial implications on the business
because spending money it hasn't got will get the business in debt and by not
knowing creditors the business will probably not be aware of wheﬁrlw they have to
pay them back, which can Iead to a bad reputation and having to pay inter ,,est on
top of the sum owing. For small busmesses like Sally’s this is a very risky thing fo
do, as she is a sole trader and she has un!pmli%&ablilty, which means that if her
business gets into debt then she will have to sell off her persirLaE possessions in

i

order to cover the amount if her business can't afford it.

e egr»\ b

|

e E <

o~
A business can encounter cash-flow problems if it incurs a high tax bili or a fine

for criminal action, this could be if the business faiied {o declare accurate

e
accounts’ If it is found just to be a mistake then the business will just have to pay
a fine and any ouistanding =nterest however if the business is found to have

commitied fraud then it will face’ plosecution this WHE then cost the business a lot

o
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more not only in money, but it could also cost it its reputatiog,wcustomer base and

\./f Lo g g S

its shareholders.

The shareholders of a business are the peopie who invest money in the company
in order to receive an annual dividend. Shareholders are impoﬁan’i to businesses
as they are a sourcgof finance, however if a business is found to not be keeping
accurate financial records then they are likely to do one of two things. The first
option would be fo sell their shares so they have nothing else to do with the
business and invest eisewhere, however, if the shares are at a lower value than
to what they brought them at they will-probably take the second option, this would
be to vote in a new board of direc¢fors, this way the share hoider can either wait
for their shares to hopefully increase in value under the new plans of the LAt

directors, or keep with the business and the/directors

The only way the public is likely to discover that a business has been not been
keeping accurate records is if it is reported in the media, for small business like
Sally’s this is not much of an issda"é;wit is unlikely television or national newspapers
are going to be interested in her business activities, however it might be printed
in the local papers if it is bad enough. For bigger businesses the sensation media
creates could have a damaging effect on théfbusiness by giving it a bad public
image and therefore have internal and external conséauences. The ﬁ‘e__hxtemai
consequences of this happening would be shareholders selling the?r shares as
they would not want to be associated with that business, and customers also
withdrawing from the business. The internal consequence would be employees

becoming concerned about their job prospectis/safety and so may decided to
M

start looking for work eisewhere. A bad public image would be bad for Sally's  , .seepancs

shop, however Elmshide Girls College uniform can only be purchased from
Sally's shop, and at the present time Sally's shop is the most convenient school
shap for most of the schools in that area. Therefore if Sally did get herself a bad
reputation it is likely to still have some busin@gs, and time to re-gain her

reputation before the supermarket would be built.

_“_.r"
ra
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If Sally had a larger business iike a private limited company and was |
experiencing bad publiqjﬂty then there would probably be a change in
management structu?’éfﬁm order to {ry and resolve the problem. Limited
companies are run by a board of directors on behalf of the shareholders, so that
when the business is doing badly the shareholders have the option of voting in a
new board of directors of whom they think will get the business back on its feet.
For very large businesses though there are thousands of shareholders and so it

is difficult to get people to vote in order for change to ,tafé place.
L

Different Types of Income and Expenditure Which Are Included Ina Setof

Final Accounis:

Business documents i.e credit notes, invoices, cheques and paying-in-slips, are
all sources of accounting records, all these documents are organised into day

books, the diagram below shows how the creation of the day books leads to the

stakeholders being able to see the profit and foss account and the balance sheet.
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(Purchases Day Sales Day Book Purchase Returns Sales Returns Day
Book Day Book Book
1 l
[ LEDGER ACCOUNTS 1
j
Purchases Ledger J/ Sales {edger \[ I( Generai/Nominal (Cash Book
(Creditor accounts) {(Debltor account}) Ladger {Bank and cash
{ All other accounts) accounts)y
(_% TRIAL BALANCE v
[ Account Balances ]
( Final Accounts l

rProﬂ't & L0ss W 1( Balance Sheet \s

L Account J '
[i\ /7 g

l STAKEHOLDERS J

When a business records its financial transactions its splits its accounts into four
different ‘ledgers’ these are the sales ledger, purchase ledger, the general ledger
and the journal. The sales ledger contains ali the accounts of debtors who have

yet to pay for the products or service they have received. The purchase ledger is

o o
g AR
dasa
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£
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-

similar to this but it contains the accounis of the creditgrs who the business has
to pay at a later date. The general ledger records the vaiue of sales/sale”éﬁretums
and purchases/purchase returns. It also contains the records of money spent on
expenses, and the cashbook, which records the cash flow of the business. The
last ledger is the cash book; it contains the bank and cash accounts. When the
accounts have been balanced these can then be put into the trial balance. If the

trial balance balances the final accounts can then be created, which means that

the profit and loss account and the balance sheet can be created. v e

The money or items invested in a business by an owner to start up a business is

the opening caﬁ‘ft%i. For example if someone opens a business and puts in £1000

and a car that's worth £65Q.into their business this will become its opening

capital: o

Bank £1000 ‘

Car £650 % | Add these two figures together
, o x to get the opening capital
| Opening Capital £1650 ¢ P gcap

o

e

The closing capital is the net worth of the business after it has been trading for a

full year, the net worth of this business below is £5450 after its first year of

trading.
Opening Capital £1650
Add Net Profit £34 500 . Opening capital ADD net profit
Less Drawings £30700 SUBTRACT drawings =
: : = - CLOSING CAPITAL

Closing Capital £5450

=

g

The closing balance of the first year will then be the opening balance of the
second year. Mﬂ,ﬂ

; i
Lok »
Eﬁmw\\m g m’\v E
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For limited companias the capital is different. The capital for limited companies is
e

worked out by multiplying the number of shares sold by the value at which they

were sold. The capital for limited companies also includes any reserves that the

business may have created from retained proﬁts If Sally becomes a limited

company she will need to be aware of these changes. .~ -

One of the most common external sources of finance is a bank“igén, most
business will need one through some point of the life of their business normally
either for starting up or to expand. When borrowing money from a bank there will
be an agreed patg//fback plan, this will include the date on which all the money
needs to be paid back"”?ay and the interest Fé;e the business chooses, There are
two interest rates that a business can choose from; fixed or Variable. A fixed
interest rate will be slightly hlgher than the current base rate but will not be
subject to interest fluctuations” ‘A variable rate of interest is subject to change as
interest rates do, a business could be lucky and have to pay back its money
when interest rates are‘fgw, or it could be unlucky and pay them back when they

are high, or get a mixture of the both. This could cause the business problems as

the amount they have to pay back will change each month, so these fluctuations sl
have to be considered when forecasting or budgeting. ot
- _
7

There are two types of assets a business may own, fixed assets and current
assets. Its current assets would be the stock the business has, debtors and cash
in the bank. A businesses fixed a: ssets are the items that it needs in order to run
the business efficiently every day. These assets have a life expecta ncy of a  year
of more and are usual!y expensive; examples of these assets are ifs premnses
vehlcles machmery and office equ;pment As these assets are expensive the
business may have to take out a loan so they are able to buy the asset, as the
loan would be likely to last over a period of five years this weould be classed as a

long-term liability in the accounts of the business. L,
e Wiy ks,
- ad

[

Aot
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A short term liabllity of the business would be when it buys items on credit. Small
businesses like Sally’s often do this especaaily when they are starting up as they
can receive the stock and pay for it at a iater date this gives them a chance to

sell some of the stock to cover the cost for when they have to pay the money

back. E‘iusinesses often offer a discount for businesses that pay for theif goods
o

straight away as they don't have to wait for their money. -

The stock that Sally buys to sell on in her shop is an expe?fée. If Sally purchases
these items on credit she will E]‘ave to show this by opening up an account for

them in double entry accouﬁ"%ing, she will also have to do this when customers

buy products from her on credit. All the transactions of sales and purchases,

whether brought on credit or not need {o be recorded in double-entry accounts. ooy

ﬂlas‘.a’j Vs

o
#
1"

There are many expenses involveg__within 2 business in order for it fo be able to
run. When a business is starting{;p there is likely to be more ex?enses as the
owner will need to purchase asseﬁé such as equipment, and will also need to
traijn/any employees. Other expenses can be broken down info fixed and variable
costs. Variable costs are items that prices will change on a Weekly/mgnthly
bases, for example if the demand for a product is low then less raw materials will
be needed to make lt so the business wont buy as much This Wl!l also affect the
amount of electr:c;ty neecxed less production means iess euec‘cric ity needed as
the machines wouldn’t be running for as fong, tnerefore Lhe cost would have
changed. Fixed costs are expenses that stay at the same price for a long period
of time like the re- payment of a loan or the payment of%ges Sole traders like
Sally record their wages under the bank and drawings aﬁount in double-entry \ e

accounting. bt |

e

Information that needs to be put into the final accounts car bo found from
different sources within the business for example credit nof:es and bank records
Once all the relevant information has been collected a set of final accounts can

start fo be created. There are many stages and processes involved in creating
e
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the final accounts and the system of double enfry and the irial balance have a

key role in the construction of the final accounts. -

Double-entry is based on the principle that each transaction has to be entered

twic@,e/and therefore has an impact on two accotffw/ts. To record fransactions in
double entry accounting ‘T-line' accounts are drawn up, these are shown in the

examples below:

‘ R
ler & bttt
i

pet b
The name of the account is shown at the top of the account so it is clear
what account it is. For each transaction that takes place the date, amount
( and a description of where the money came from/went has to be
recorded.
DR Bank Account CR
Date Description | Amount (£) | Date Description | Amount (£)
1/03 Capital 2 500
//
Q \is is the debit side of the account; this is This is the credit side of the account; this is
shown via the DR. The debit side records the shown via the CR. The credi side records the

goods, services or money the business goods, services or money the business gives.

receives.
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For every transaction that takes place it will increase the value of one account

and decrease the value of another.

DR Capitat Account CR
Date Description | Amount (£) { Date Description | Amount (£)
1/03 Bank 2500

The bank account has received £2 500 from

<" + capital account, therefore the value of this

account has increased by £2 500. Y

~,

decreased. .~

The capital account has paid out £2 560 to the
bank account, so now this account has £2 500
less, therefore the value of this account has

DR Bank Account CR
Date Description | Amount {(£) | Date Description | Amount (£)
1/03 | Cash sales 2 500

P

If the transactions are not entered accurately then when the business creates its

trial balance it will not”galancq. Before the trial balance can be created the

business needs {0 balanoe"”gff all its accounts.

Accounts are balanced off at the end of each %onth so that the business can

- . .
bring forward its ‘opening balance,’ this is how much money is in each account at

the beginning of the month. Balancing the accounts allows the business to see its

financial position as a whole once the trial balance is completed after the

accounts have been balanced, but it also allows the business to iook at specific

financial areas. For example it will be able to see the value of the months sales

’//’ i g 4 Ny

ek
ot
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and compare it to past performance to lock for any trends, it can identify how

much money it has spent on purchases and expenses, and also how much

money its owes its creditors and debtors.

y

There are three stages involved in balancing the accounts, shown in the

examples below;

Stage 1: To add up each side of the account and identify the highest total.

DR Bank Account CR
Daie | Description Amount (£) | Date | Description Amount (£)
1/03 | Opening Balance 3500 §1/03 Rent payable 500
3/03 | Sales account 1600 § 14/03 | Royal Wordsley 50
16/03 | Sales account 3450 1 23/03 | D KTies & Badges 1500
26/03 | Rates account 500

These totals come from adding up all the figures in the column above them on their

side. The total on the debit side of the account can be identified as the highest total.

Stage 2: To work out the difference between the totals.

DR | Bank Account CR

—

As the total on the debif side was the highest you then have to subiract the credit

total from this:

The result from this, £6 000, is called the balance.

z’f
&

£8 550 - £2 550 = £6 000

o

o
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Stage 3: Putting the ‘balance’ on the account

DR Bank Account CR
Date | Description Amount (£} § Date | Description Amount (£)
1/G3 Opening Balance 3500 §1/03 Rent payable 500
3/03 | Sales account 1600 § 14/03 | Royal Wordsley 50
16/03 | Sales account 3450 g 23/03 | D K Ties & Badges 1500

2B6/03 | Rates account

30/03 | Balance c/d

total 3 550 total
-
/ -
The halance is placed on the debit side as this was the side This is the/difference betweenh the
with the highest total, it has to be put on this side so the two totals to bring the credit side
balance can be brought forward for the next month on the up to the same total as debit side
correct side. , so that the two sides balance.
Once all the accounts have been balaggéd like the one above the trial balance e
can then be consiructed. '
ko s E}.%_ﬂa.‘
The Trial Balance and Errors A Ry
The trial balance is the method that is used to check the accurgcy of the double-
entry accounting. If there is a mistake in the double-eniry accounts this will show
in the trial baﬁnce as the sides will not balance. The frial balance also brings to
the attention of management outstanding debtors/and creditﬁ;s and can also be
used to check against fraud if it is a big business and lots of different people
contribute to the data in the accounts. e et 4
gl

A business can't construct a trial balance unti! it has balanced off aﬁs accounits

as all that is needed for the frial balance is the individual balances of each
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account. Once the business has these balances they are then put into a table like
the one below: 4

Type of Account Debit (£) Credif {£)
Capital 6500.00
Bank 774.00
Cash in hand 4000.00
Puschase 943.00
DK Ties and Badges (cr} 619.00
Sales 1835.00
B. Smale Account / ;. 1544.00
I Rent 300.00
| Discounts allowed 26.00
Electricity 167.00
Drawings 1200.00

These are all the accounts that where brought forward, the amount that was
brought forward is placed on the relevant row either under ‘debit’ or ‘credit’

depending on which one they were brought down under. Y

All the figures in the debit side of the account need to be added up and totalled at
the bottom of the table, as does the credit side.

Type of Account i Debit {£) Credit (£)

[N [N [N

TOTAL 8954.00 ; 8954.00

-

As the two sides balance this more than often means that the accounts are

accurate. However it is possible that there are some errors in the accounts, the

e

iy

k<

YLt
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trial balance only shows what is on the surface, it does not provided a through
detailed look into the accuracy of the accounts, so although it gives a good

indication as to if there are any errors it does not prove it

There are different types of errors that can occur in accounis which can cause

the trail balance to appear correct. An omission error happens when an entry has

not been recorded on both the debit and /g,nedit side. This error is easily corrected

as all the business needs to do is to enter the invoice into the accounts.

Compensating errors are slightly more complicated as this is when two separate
errors of the same amount happen, as one occurs on the credit side and the
other on the debit side the errors cancel each other out which is why the frial
balance appears correct. To correct this error the accounts would need fo be

credited and debited with the missing entries.

Errors of principle are caused by entries being put into the wrong account, for
example when cash received from a debtor is debited to the debtors account and
credited to the cash account rather than the other way around. This is corrected

by balahcing out the error in the account and entering if correctly.

Bibiiography
‘Business Studies’ third edition: Dava Hall. Rob Jones. Caric Raffo.

A2 Level for OCR Applied Business: Catherine Richards, Rob Dransfield, Neil
Richards and Karen Hough.
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Task B (1)

Below I have entered the relevant data in order to balance off Sally’s accounts at the close of trading on 1%
May 2006. [ have then brought down the balances ready for trading to commence on 2n May 2006.

DR L. Hill Account (Debtor) CR
1/5 Opening Balance L1901 00%1/5 L. Hill (cheque) 98 | 00
Sales invoice #4 ~ 127 1004 1/5 Discount Allowed 21 00
1/5 Balance ¢/d 217 00
317 |1 00 ~ 317 00
2/5 Balance c/f 217|000
DR S Branson Account (Debtor) CR
1/5 Opening Balance “7326 1 00 1 1/5 Balance ¢/d 4121 00
1/5 Sales invoice #3 « 86 | 00
#4121 00 w4121 00
2/54° | Balance ¢/f we 120 00 [
DR DK Ties & Badges Account (CR) CR
1/5 Purchases returns 891 001 1/5 Opening Balance w1092 | 00
1/5 Bank (cheque) 955 | 00 F 1/5 Purchase invoice #2 691 | 00
/5 Discounts Received 45.1 00
1/3 Balance ¢/d v 694 | 00
v 1783 | 00 <1783 1 00
|
‘ 2/5 " | Balance c/f v 6941 00
BR B. Smale Account (Bebtor) CR
1/5 | Opening Balance 1294 1/5 Sales Returns #6 20 00
1/5 Bank {cheque) 250 00
e 1/5 Discount Allowed 24 00
3 2941 00« 7204 00
i
| 2/5 Balance c/f £0.00 | |
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DR Royal Worldsley Account (Creditor) R
1/5 Purchases Returns #5 » 162 | 001 1/5 Opening Balance | | 4948 00
1/5 Bank 1400 | 00§ 1/5 Purchase invoice #1 652 00 |
Discount Recleved 28 ¢ 00
1/5 Balance ¢/d 47725 00§ 1/5 Purchase invoice 762 00
<6362 | 00 w1 6362 00
25/ | Balance ¢/f | 477200
DR Sales Account CR
1/5 Balance c/d 1172157 00§ 1/5 Opening Balance 116735 1 00
1/5 Invoice 4(L. Hill) 1271 60
1/5 Invoice 3(SBranson) 86| 00
1/5 Cash Sales 267 | 00
1172151 o o 172150 00
. F
2/5 A | Balance ¢/f A7 1172150 00
BR Purchase Account CR
1/5 Opening Balance 1] 78310 00 1/5 | Balance c/d 80415 00
1/5 Invoice2(DK Ties) 6911 00 '
1/5 Invoicel(Royal Wordsley) 652 00
1/5 Inveice (Royal Wordsley) L 762 90
| 80415 1 00 ] 180415 ] 00
2/5, | Balance c/f 80415 | 00
v
DR Cash in Hand Account CR
1/5 Opening Balance v 38 00 1/5 Balance ¢/d 38 00
381 00} 38100
e
2/5 Balance c/f w38 00
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DR Bank Account CR
1/5 Opening Balance 4369 | 0011/5 D K Ties & Badges 955 00
{cheque)
1/5 B Smale 256 00 1/5 Royal Wordsley 1400 00
1/5 Cash sales 267 00§ 1/5 Rent payable 250 00
1/5 L Hill 98 1 00 1/5 Rates account 1800 00
{connalton council)
1/5 Balance c/d 75791 00
~ 4984 1 00 | 4984 00
2/5 V| Balance ¢/f S579 1 00
DR Rent Payable CR
1/5 Opening Balance . 2500 0 00§ 1/5 Balance c/d 2756 00
1/5 Bank (chegue) 2501 00
2750 | 00 27501 00
2/5 | Balance c/f 2750 00
DR Discounts Allowed Account | CR
1/5 Opening Balance «"354 1 00} 1/5 Balance ¢/d 3801 00
1/5 L. Hill 2 00
1/5 B.Smale 24+ 00
+380 | 00 1380 | 00
2/5 4" | Balance c/f 7380 | 00
DR Discounts Received Account CR
1/5 Balance c/d 225 00§ 1/5 Opening Balance »~ 1527 60
1/5 Royal Worldsley 280 00
1/5 DK Ties 451 00
/2251 00 w1 L2250 00
275 Balance c/f 225 00

a2
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DR Purchases Returns Account ' CR
1/5 Balance c/d 2695 | 00¢1/5 Opening Balance - | 2444 00
1/5 D K ties & badges 89 00
1/5 Royal Worldsley 162 00
A | 2695 00 W 2695 00
2/5 . | Balance c/f A | 2695 00
DR P Rates Payable Account CR
1/5 Opening Balance 1200 00§ 1/5 Balance c/d 3000 00
1/5 Cheque (Bank) 1800 1 00
3000 | 00 <1 | 3000 00
o
275 Balance c/f 30006 00
DR Sales Returns Account CR
1/5 Opening Balance ~107 1 00]1/5 Balance ¢/d 127 00
1/5 B Smale 20 00
127100 127 00
275 Balance c/f A T27 00

G Tdf <‘ jasd X I B ol
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Task C

(i) The fol]owin% balances have been taken from Sally’s books to produce a trial

balance as at 15" May 2006;

Debit (£) Credit(f)

Sales 122 496 ; 00
Purchases 81869 | 0O
Stock at 1% June 41082 | 00
Wages 4471 00
Fixtures and fittings at cost 11500 00
Provisions for depreciation fixtures and fittings at 1 June 2005 245000
Bad debts 32| 60
Provision for doubtful debts at I June 2005 1000
(General expenses 5184 00
Rent payable 2750 00
Drawings 1533 00
Sales returns 164 1 00
Purchase returns 297300
Loan interest 600 | 00
Capital 19 5551 00
Telephone expenses 1244 00
Loan at 12% per annum 10 000 | 00
Cash in hand 1391 00
Rates 2675 00
Light and heat 2069 00
Bank 3284 00
Discounts allowed 388 ¢ 00
Discounts received 218 00
L Hill (debtor) 399 00
$ Branson (debtor) 593 | 00
B Smale (debtor) 408 ¢ 00
Royal Wordsley (creditor) 4891 | 00
DK Ties and Badges {creditor) 743 100
Carriage inwards 2204 00
Carriage outwards 5721 00

163160% 00§ 163336100

The trial balance | have constructed for Sally’s business for 15™ May did not balva/;ce.
As the totals are mathematically accurate and the entries are on the correct sides of the
accounts,(either debit or credit side) this shows that there are errors in the entries of
the accounts themselves. Therefore I ?p/going to open a ‘Suspense account’ with the

/ Walance of £176 as this is the difference between the two totals of Sally’s trial balance.

A suspense account is opened because if Sally is unsure where to post an item, then
the suspense account will hold the figure until she has identified where it should be. »

e

g
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So for example, if Sally received a payment for goods she supplied but it is not clear
who sent the money to her, then the suspense account can be Eredited with the
amount. When she finds out who sent the money she can put her accounts right and
credited the customer’séccount. A more important reason for opening a suspense
account is when there is a difference on the trial balante, as you can see on the trial
batance | made, that cannot be found guickly and corrected. The above trial balance
resulted in the difference of £176 ‘beﬁ;veen the total debits and the total credits. There
is usually a procedure that is followed to try and clear the suspense account as sooD as
possible. This is shown in the diagram below:

Search for book-keeping errors or error ]
- ¥ .
Correct errors in the journal
\ e —
¢ Y
Enter corrections in the ledgers
* o
' ™
Correct the trial balance
v § /
{ Prepare a statement to correct the net profit {{,@‘@iﬁ.

—

I wont need to prepare a statement because we ha:\%ot got the net profit in our
figures but I will prepare a corrected trial balance. The £176 is written on the debit
side of the suspense account as ipown below:

DR Suspense Account CR
15/2 Balance 176 | 00

/

Now that I have created a suspense account for Sally, I am going to produce a
‘Journal® were the identified adjustments will be entered, each adjustment st be
entered twice as it has to follow the rules of double-entry accounting.

(ii) I have identified all the errors and entered them in the Journal further down.
Below are statements containing the information of the error and how it has been
corrected.

Error 1: A cheque for £100, received from S Branson was credited to B Smale’s
account. The error here was that a cheque was credited into the incorrect account,

B Smale’s. To correct this 1 had to reduce #lic amount in B Smale’s account by £106
this was done by debiting his account, then I had to credit 5 Branson’s account with L
£100 to amend the error fully. Ao
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Date

Details

DR(£)

CR(E)

1572

B Smale Account

100

00

15/2

S Branson Account

100

(0

Error 2: The second error that occurred was that £120 paid of general expenses had
been correctly entered into the cash book, but had also been credited to the general

expenses account. Sally,should have debited
take the entry out on

%{ post in the entry ag

he general expenses account, so I had to
in and then creditif, this corrected the

suspense account. To correct the rest of the error I had to debit the general expenses

account with £240,dnd credit the suspense account also with

25

Pate

/
Details

DR(£)

CR(£)

15/2

General expenses account

240

00

15/2

Suspense account

s
o

240

00

o

=

Error 3: In this error a £14 discount allowed had been correctly entered in the debtors
account but had been debited to the discounts received account. To correct this error I
debited the disgwﬁts allowed account with £14 and then crefdgc,c@ifthe discounts

received account with £14.

Date

Details

-

DR(E)

CRE)

15/2

Discounts allowed account

o

14

00

15/2

Diiscounts received account

00

14

Error 4: The fourth error was a £20 standing order for general expenses which had
been omitted from her accounts. Credgipgﬁhe bank account with £20 and then
debiting the general expenses account with £20 co:g:t/ed«this Omission exror.

Date Details DR(E) CR(E)

15/2 Bank account 20 00

15/2 Suspense account 20 00

L

Error 5: The last error Sally made was when a telephone expense paid by cheque for
£32, was debited toboth the cash book account and the telephone expenses account.
By taking it out.once and them posting it in and then creditis gfi‘f,{orrected the
suspense account. Finally I credited the Cash book with £Ei,azrd debited the suspense
account with £64, which corrected this error.

o

-

Bate

Details

DR(£)

CR(E)

15/2

Cash book account

64

00

15/2

Suspense account

64 00

A
L~

Y
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I then took all of these figures and placed them in the correct columns in the journal.

The Journal
Date Details DR(E) CR(E)
15/2 B Smale Account 100 | 00
1572 S Branson account 160 1 06
15/2 General expenses account 240 | 00
15/2 Suspense account 246G 7 00
15/2 Discounts allowed account 14| 00
15/2 Discounts received account 14§ 00
15/2 Bank accoumt 20|00
1512 General expenses account 20| 00
15/2 Cash book account 64 | 00
1572 Suspense account 64 00

Now I have worked out the errors and the accounts they should be in T will make
another trial balance with adjustments columns and put the figures above in the
adjustments column next to the appropriate descriptions.

s
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(iif)The corrected trial balance as at 15 May 2006

Both the adjustments columns now balance and these adjustments can be put into the debit
and credit columns of the trial balance to make them balance. I will now add the adjustments
to the debit and credit columns to correct the trial ‘}t{)fai'ancel For example, as there were two
changes to the expenses account and it had to be debited for the two errors 1 added the £240
and the £20 together and entered this as £260: 1 entered the £176 alongside suspense account
in the description. This was the amount { réeded to enter to balance the columns. General

expenses of £5184 plus £260 = £5444, and so on.

&

Debit (£) Credit(£)

Sales 122 496
Purchases 81 869

Stock at 1 June 41082

Wages 4471

Fixtures and fittings at cost 11 500

Provisions for depreciation fixtures and fittings at 1 June 2005 2 450
Bad debts 32

Provision for doubtful debts at 1 June 2005 10
General expenses 5444

Rent payable 2750

Drawings 1533

Sales returns 164

Purchase returns 2973
Loan interest 600

Capital 19 555
Telephone expenses 1244

Loan at 12% per annum 10 000
Cash in hand 139

Rates 2675

Light and heat 2 069

Bank 3200

Discounts allowed 402

Discounts received 232
1. Hill (debtor) 399

$ Branson (debtor) 593

B Smale (debtor) 408

Royal Wordsley {(creditor) 4891
DK Ties and Badges (creditor) 743
Carriage inwards 2204

Carriage outwards 572

TOTAL 163350 163350

/ / L fiem

It now balances. et

T
Py 0



TASKD

(1) SALLYS EXTENDED TRIAL BALANCE AS AT 31st MAY 2006

Sales

Purchases

Stock at June 2005
‘Wages

Fixtures and fittings |
Provision for depreciation fixtures and fittings
Bad debts

Provision for doubtful debts
Genaral expenses

Rent payable

Drawings

Sales returns
Purchases retumns

Loan interest

Capital

Telaphone expenses
Loan at 12% per annum
Cash in hand

Rates

Light and heat

Bank

Digcounis alfowed
Discounts received
Debtors

Creditors

Carriage inwards
Carriage outwards
Depreciation - fixtures and fittings
Bad debts

Prepayments

Steck (halance sheet)

Trial Balance

DR (%)

- £85428.00
- £41,082.00

-~ £4,665.00
~£11,500.00

~£35.00

, £5,667.00
. £2,750.00
. £1,600.00

£171.00

S

« E600.00
< £1,407.00

£ £41.00
£2 675.00

L~ £2,104.00
. £4,735.00
£419.00

» £860.00

~ £2,300.00
£597.00

CR (£) v

£127,625.00

DR (£)

Adjustments

£2,450.007

£10.00

~ £3,102.00
< £19,655.06

~£10,000.00

¢ £351.00

£5,644.00
;f

v
£250.00

¥ £1,725.00
{ £38.00
£1 ,050.08/

CR (£)

p
£1,725.00
y

£38.00

£

£1,050.00
‘,{;.

DR (£)

Profit and Loss
CR(£)

. Y
4 -
At
e

Balance Sheet

£127,625.00 -

£85,429.00 |
£41,082.00 .
£4,665.00 -

£35.00~

£5,667.00 °
£3,000.007

£171.00°
. £3102.00
£600.60

£1.407.00

2

£1,625.00 ¢
2104

£419.00,
£351.00
o~

<

£2,300.00
£697.00 7
£1,72500 ~
£38.0C /

DR (£) CR (£)
£11,500.00
£4,175.00 -
£48.00
£1,600.00
£19 555.00
£10.000.00
£41.00
N
£4735.06 7
e
£960.00
£5.644.00
£1.050.00 *
£35,263.00 -

s

e



Stock (profit and loss) v’ ) £35,263.00

Accurals £250.00 v

Net ProfivlLoss £15,477.00

Totals £4168,737.00 £168,737.00 £3,063.00 £3,083.00 £166,341.00 £166,341.00 £55,149.00

e

-
£250.00
£15477.00

£55,149.00



TASK D SALLY'S TRADING PROFIT AND LOSS ACCOUNT FOR

THE YEAR ENDING 31 MAY 2C

Sales
Less: sales returns

Less cost of sales
Opening siock
Purchases

Less Purchase returns

Plus: carriage in
L.ess: closing stock

Cost of sales

GROSS PROFIT
Add discounis received

Less: expenses
Wages

Bad debts

General expenses
Rent

Laon interest
Telephone

Rates

Lighting and heating

Devreciation of fixtures and fittings

Discounts allowed
Carriage out

NET PROFIT

£ £
£127,625.00
£171.00
£127.454.00
£41,082.00
£85,429.00
£3,102.00
£123,409.00
£2.300.00
£125,709.00
£35,263.00
~ £90,446.00
& £37.008.00 (This is profit made before expenses)
£351.00
£37,358.00
£4,665.00
£73.00
£5,667.00
£3,000.00
£600.00
£1,407.00
£1,625.00
£2,104.00 APCE LS
£4,725.00 _
£419.00 s
£697.00 )
£21,882.00
-~ £15,477.00 This is the figure shown on the
g/// extended trial balance so |

know it must be right.

All | did was move the profit and loss figures from the extended trial balance to create Sally's
Trading Profit and Loss account as at 31 May 2006

/



(fii) SALLY'S BALANCE SHEET FOR THE YEAT ENDING 31 MAY 2006

DR (£) CR (£)

FIXED ASSETS
Fixtures and fittings £11,500.00
Less: depreciation £4175.00
£7,325.00
CURRENT ASSETS
Stock £35,263.00
Debtors £960.00
Prepayments £1,050.00
Cash £41.00
Bank £4.735.00
£42,048.00
Less: Doubiful debts £48.00
£42 001.00
" Less: Current Liabilities
Creditors £5644.00
Add Accurals £250.00
£5,894.00
Working capital {CL-CA} £36,107.00
£43,432.00
Long Term Liabilities
Loan £10,000.00
Net Assets (FA-CA-CL-Long term loan} £33,432.00
Capital £19,555.00
Add: Net profit £15,477.00
£35,032.00
Less Drawings £1,600.00
Capital Employed (Net assets - drawings) £323,432.00

All | did was move the balance sheet figures from the extended trial balance to create Sally's

Balance Sheet as at 31 May 2006

fﬁf
7
#

v

&

-
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Tagk E
(i)Possible Templates and Layouts
As businesses need immediate access to their financial records, commercially
produced accounts packages allow this provided that the information is entered
correctly. These packages are produced to use on a computer and make the whole
process simpTc;f for the person using the Softwaxe The benefit of having computerised
accounts is that they look more professmnal if the business has to show a bank
managé; for example if Sally bad to meet with a bank manager in order to galn
financé for her expansion, it would look much better on her if she had a neat printed
copy of her accounts rather than numerous pieces of paper with her accounts on.
Also, they allow her to carry out what 3 1f situations so that she can see at a glance what
would happen if she changed any of the figures. Another advantage is that if a
transaction has been entered correcﬂy the error can be corrected on the computer and
it will automatically correct ¢ any totals or balances that may have been affected. This
saves a lot of time because once a formula is put in then calculations take place
automatlcally when Sally changes these figures. So she can see what would happen if {

Bty #
say, for example, she cut down her expenses. It will show the effect this would have (S

~ on her profits. I would advise Sally to carry out some research into small business

computerised packages that would suit her business, as once she has purchased one of
these packages, it will save her a lot of tlméln completing her accounts, and it will let
her check her accounts at different fimes of the year to make sure that they are correct
and to identify any errors that are made, as well as clearly showing her what her

. debtors and creditors figures are.

o
e

When choosing an accounting package there are several fac:gﬁs that thi owner would

need to consider, firstly she would need to consider the short and long term use of

each package to her business and if it will be appro%ﬁate to Sally’s performance, for

example an accounting package that only works with ten employees may be suitable

for the short term but when the business employs more people they will have to

purchase another package. So it is important that Sally thinks carefully about the

reasons she wants the package and the different ones there are avaﬂatale so she can

choose the one that suﬁi; her business the most. If she decides to purchase a package

she has to think about the cggbuter she has. Is it ok for her to use with the package. o7 g g

1t could mean that she might have to inves%jn another type of computer, or if she
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hasn’t got one then buy one for this purpose. Another important point to consider is
which package the businesses accountant uses, this probably will not be an issue for

Sally as she has not received much financial advice so far, but for other business if

o

they are using the same or similar package to their accountant then they carl transfer

£
o

their accounts to a disk and just give the accountant the accounts at the ends of the
year to prepare the yearly accounts, this will also cost the business less in paying for

-
L

an accountant,

There are three main accounts packages [ have identified that are specifically aimed at

small businesses. The first is MYOB thch costs from £193, this comes with a free it /f 9
download trial so Sally can try the package out and see if it suits her business. The

second package I researched is Sage which costs from £99. This is a well known

package and it is aimed at business with ten employees or less and also has a support

infrastructure. Also from an extra £85 the business can get cover that aliows them to oh ~E 4

have contact with experienced Sage advisors for a year, so that if they have any

problems with the package they can sort it out straight away. This is a very important
consideration for Sally as she will need to know that there is someone she can ask if

she is having any trouble. A further package I researched is TAS which is the fe ! 3
cheapest I could find and costs from £69, and this has had the biggest impact on

accounting in the UK in the last two years. M/«

(i) Legal Requirements

As Sally is a sole trader there were no legal formalities she had to undertake when
setting up her business, unlike other businesses such as a limited business which have
to register their business with Companies Houses. However Sally was required to
inform the government that was going o be seif-emplo@. Apart from this Sally as a
sole trader Sally started trading straight away as she required no licénces for her
business to run unlike other businesses which seil products such as alcohol who
require a licence to sell it. However she has some legal responsibilities now that her
business is established. Sally must pay 75 types of tax, the first is indome tax. The
amount of income tax a business has to pay is dependant on the tax ban Ats income

falls into. The table below shows the bands and limits: ' pros { E
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Income Tax Band Income Tax rate on earned income

£1t0 £2,230 10%

£2,231 to £34,600 22% P
£34,601 and above 40% g

In Saily’s case this is £15.477.00, falling in to the 22% tax band. }t is also required for

Sally to pay National Insurance contributions from the profits eamned, the Inland
M’f’ g
e Fise

Revenue asses how much Sally’s business will have to pay.

Sole traders have unlimited liability and therefore if the business gets into debt then
the owner will have to cover the costs, in some cases this can lead to owners having to
sell their homes to pay of a business debt. The best way for Sally to avoid this is by

keeping accuraie ‘fe/cords, this will help as she will be able to see from her accounts,

(such as the profit and loss account) how her business is performing. Also Sally has to Aot f
keep her final acectnts accurate as she will have to send them off to the Inland

Revenue for VAT at some point, if any errors are found or if it appears that the

accounts are misleading on purpose Sally could face a fine.

Businesses are not automatically VAT regisStered as they are not required to pay VAT

until their turnover reaches a certain limit over a period of a year, currently the ‘“VAT

threshold’ is £64,000 for the tax year 2(}07/39%- When Sally is at the threshold of

£64,000 turnover, it is legally required for her for her to register for VAT and send the

Inland Revenue her accounts, failure in Sally being fined, and also possibility of

facing further legal g;p.en It is important then that Sally keeps an eye on her figures %
to make sure that she doesn’t go over the VAT t}neshog}mthout knowing. Some fexs| A
businesses will try and operate just below the VAT figure so that they do not have to

be registered.

Sally also needs to be aware of legal obligations that may affect her in the future when
developing her business. For instance Sally feels that the current size of her shop is
restrictive and therefore may want to expand, if this is the case then Sally should
understand that she would have to gain planning permission. After expanding it is o
likely that Sally will need to employ other staff. If Sally decides to do this she will
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have to comply with all the health and safety legislation and employment legislation.
She might also find that her insurance increases when she takes on mote staff or "
expands and its important for her to think about the extra ﬂgﬁgs to her business 6f l'
doing this. &

L I
e gy R B
e
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Task K

I have calculated ratios for Sally’s business ending the year on 31" May 2006, 1 have
used the final accounts from this year to assist with working out these ratios. Below
are the ratios, their formulas and how I worked out each one in context of Sally’s

business.

1. Gross Profit Percentase

Formula: Gross Profit
--------------- % 100 = Gross Profit Percentage e
Sales
Working: £37.008.00
~~~~~~~~~~~~~~ x 100=29.27 %
£127 625.00 Ve

2. Net Profit Percentage

Formula: Profit before Tax
x 100 = Net Profit Percentage
Sales
Working: £15,477.00
—————————————— x 100=12.13%
£127 625.00 &;‘""ﬁ

3. Return On Capital Emploved

Formula; Profit before Tax
x 100 = Return On Capital Employed
Capital Employed
Working: £15,477.00

_____________ x 100 = 46.29%
£33,432.00

e

S
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4, Debtor Collection Peried

Formula: Final Debtors
————————————————— x 365 = Debtor collection period
Credit Sales
£960 .
Working: =~ -e--mmem- x 365 = 27.45days e
£127.62.50

5 Creditor Payment Period

Formula; Final Creditors
—————————————————— x 365 = Creditor Payment Period
Credit Purchases

Working: £5.644.00

~~~~~~~~~~~~~~~~~~ % 365 = 25.38 days
85,429.00 + 100 x 95 = 81157.55

v
6. Curremt Ratio
Formula: Current Assets
= Cyrrent Ratio
Current Liabilities
Working: £42,049.00
= 7.13;4;:%‘
£5.894.00 ‘ {f’”
4. Acid Test Ratio
Formula. Current Assets — Stock
= Acid Test Ratio
Current Liabilities
Working: £42,001.00 - 35,263.00 = £6738.00 - \1\ 5
= 1.1 45’ ; S

£5,894.00
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8. Stock Twroover

Formula: Average Stock
------------------ x 365 = Stock Tumover
Cost of Sales
Working: 41,082.00 + 35,263.00 = 2 = 38172.5 Wy,»’
- x 365 = 154.05 days
90,446.00

I have put the calculations of my ratios into a table alongside the ratios provided for

the previous two years of Sally’s business; 1 have grouped the information according

to the type of ratio, i.e. profitability, solvency and performance. This means that I can

see at a glance the changes in the different types of ratio.

e

Year Ended 31 | Year Ended 31™ Year Ended 31%
May 2004 May 2005 May 2006
PROFITABILITY RATIO
Gross Profit Percentage 34.78% 40.12% 29.27%
Net Profit Percentage 12.65% 18.23% 12.13%
A Return On Capital Employed 23.78% 45.11% 46.29%
PERFORMANCE RATIO
Debtor Collection Period 44 days 53 days 27days
Creditor Payment Period 18 days 22 days 25 days
/ Stock Turnover 105 days 139 days 154 days
SOLVENCY .
Current Ratio 6.53:1 6.95:1 71314/
Acid Test Ratio 0.58:1 0.89:1 1.143}

-

Now that Sally’s business has been trading for three years she can use the ratios to

comp#re them to previous years, this is a useful tool to asses how her business is

performing. Sally has focused on three main types of ratios, these are profitability,

performance and solvency.

It is usually preferable for a business to have a high and increasing gross profit as this
shows the stakeholders such as employ;ges" or potential investors that the business is
performi%fg well, and that it has control over the cost of its purchases. Sally’s gross

profit percentages for the latest year 2006 is 2?/2«%, this is down 10,:?2@,&0111 the
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-
previous year, 2005, It is betier for businesses to have higher gross profit margins

than lower ones. To determine whether her gross profit margin is good Sally should
think about comparing thiswith other SImﬁar busmess Her ﬁgures also show that her
usually the quacker the turnover of stock the lower the gross proﬁt %argm will be. For
Sally, the aim of her business for the first three years is survival and asa result
profitability has not been a main focus for Sally. Thismay be a reason why her gross
profit has fallen and not stayed steady during her first three years of trading.
Improving her profitability is important because she will then be in a better ﬁnanc;al

position to think about expansion.

Sally’s net profit percentage has also dropp% from 18.23% in 2005 to 12.13%, this is
a 6.1% decrease. Similar to gross profit, higher net proﬁt percentages are usually
preferred. The net profit helps Sally to measifre how well she can control her
overheads. The fact that Sally’s net profit has decreﬁswed shows that she does not have
coiffrol over her overheads. In the next financial year 2007 when Sally plans to
change her strategic aim to improve her profitability Sally will need to plan a method
of ensuring she has control over her overheads otherwise her net profit will continue

to decrease.

////
e

this shows the relationship between the capital invested into the business and the net
profit of the businesvé/. The percentage rate for Sally’s business has increased
continually through her three years of trading. It has increased from 23.78% in 2004,
1o 45.11% in 2005 and to 46.29% in 2006. Although these figures have increased, the
amount increased from 2005 to 2006 was only 1.18%, compared to the 21.33%
increase from 2004 to 2005. This smaller increase is due to the net profit decreasing
by 6.1% from 2005 to 2006, therefore the retum on capital employed is not going to
be as great an increase as previous years. Stakehoiders in the business will be able to
see that although there has been as slight increase in the ROCE it is not as great as the
year before. Therefore, Sally needs to address this issue. o

As Sally wants to expand her business in the future it is important that her

profitability ratios are high so she has a better chance of not only having the
e
¥
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,wf"w
=

opportunity to expand, but also of attractfng investors interest in hf:r business, as a
higher net profit and return on capital employed will reflect positively on the business.
The ‘debtor collection period” measures the efﬁciencj}f;f Sally’s credit control
system. It calculates the average number of days it takes Sally (or any other business)
to collect the deﬁg from her customers. Sally’s business has improved massively
through her three years of tradmg, going from 53 days in 2005 to nearly haivmg itin
2006 with an average of 27 days This indicates that Sally must have an eﬁeé’ﬁfve
system of credit control. This is beneficial to Sally as 95% of her shops pggchases are
brought on at least one month’s credit, as it takes her an average of 27 cfé%s to receive
her money from customers, it is unlikely she will experience cash-flow problems as

she is receiving money to help pay off her suppliers in time.

The number of days it takes for Sally to receive payment from her debtors has
improved ’But her time for paying for her purchases has increased slightly from 18 in
2004, to 22 days in 2005 and finally 25 days in 2006. From the ‘debtor collection
period’ ratios it appeared that Sally could collect the money owed to her in time to
pay off her creditors, however from the results of this ratio it appears that this is not
the case. This highlights one of the limitations of ratios, that they do not give reasons
10 justify the ratios. Sally needs to monitor hhg;‘ payments because if this time o
continues 1o increase and she is not aware ofthis, then it could lead to difficulties for y

her. It is possible that if her creditors are not paid on time, then she may not be able

to continue using the credit system. Also, it does not give her a good reputation.
e
Furthermore, if Sally misses the time she is allowed to gain discounts, then this will

increase her outgoings.

Stock turnover calculates the number of days it takes a business to sell its stock. In
2006 Sally’s ‘stock turnover” was 154 days. Since she started trading in 2004 this
amount of days has risen from 105 days in 2004 to 154 in 2006. This may explain
why Saﬂff’s ‘creditor payment period’ is increasing as it is taking longer for Sally to
sell her stock. This will impact on Sally’s profit, for example in 2005 Sally’s net
profit was 18.23% with a stock turnover of 139 days, whercas in 2006, with a stock
turnover of 154 days, Sally is making 12.13% net profit. Businesses with a higher e

stock turnover can earn their profit on the sale of stock quicker. v
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The ratios for ‘stock turnover’ don t take into account that the demand for Saliy S
uniforms is not going to be in high at ail times, it will have peak times in August and
September when parents are purchasing their chﬂdren s uniform for the new school
year, but there will be times when demand is Yow for example in October demand
will be lower as the majority of people will already have new umforms if the
council’s planning committee goes ahead and builds a supermark/@t Sally’s stock
turnover will be further affected as uniform will be available thére and some parents

may find it convenient to buy uniforms whilst buying their groceries.

The overall performance, according to ratios, is quite negative as the time it takes her

to pay creditors back is increasing as is stock turnover. Although Sally /ean collect her

debtor payments 1ncreasmgly quickly she is not selling her stock quick enough to pay
[T AN

back creditors qya/ kly enough, this wﬂl lead to serious financial problems in the
future.

o~
#

It is essential that Sally (and any other business) has enough ‘liquid assets’ to pay any
immediate bills that may appear. Liquid assets inclade cash and assets that can be
quickly turned into cash like stock aﬁgdebtors. ‘Current ratios’ use the current assets
and-a-current liability to calculate if a business has sufficient ‘liquid’ resources.
Sally’s current ratio stands at 7.13¢ 4 in 2006, increased from 6.32:1 in 2004 and

6.95:1 in 2005. It appears that Sal}y has 1060 much money tled up in stock, as it is
suggested anything over 2: 1 is ‘tied up it can’t generate any retum compared to it
being in the bank. As Sally’s ‘stock turnover’ is high it re-instates the pomt that
money is tied up in stock, this is money that Sally could leave in the bank herself and
earn interest on or invest it in something else for instance her online and telephone

sales system. e

The acid ratio test is also to measure liquidity but is more severe, and because stock is
not guaranteed to be sold, they are removed from this m{;(/). The purpose of this is to
check whether or not a business such as Sally’s will stiil have sufficient liquidity
(without stock) to pay off immediate debtsf‘fft indicates as to whether or not 2 business

may find it hard to pay its current liabilities on time. Stock is not always guaranteed to
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be sold, although as a school outfitter Sally should not find gg;)ck left on her shelves
due to changes as would some other clothes retailers. School uniforms are usually
stable.” "There are variations in mdustry as to what figures are best but generaily
retailers who have a strong ogsh ﬂow will find that they can operate effectively with
an acid test ratio of less than 1. However, when the liquidity is higher then businesses

like Sally need to think about problems of having surplus cash. e

Ratios are a very usefud tool for analysing different financial aspects of the business,
profitability, performance and solvency. However, although they are useful they are
only of any use when there are previous ratios to com?are them with, or if comparing
with competitors, their ratms Ratios can only be compared to other businesses if they
have a similar busines, for instance if Sally wanted to see how her ratios compared to
other business she could only do this with another school outﬁtter as they are in the
same business and are likely to operate in 2__4s1m1iar way. Ratios are based on
information from final accounts and docﬁlnents, mainly the closing profit and loss
account and the baldﬁge sheet for that particular year, therefore they rely on the fact
that the documents are 9@f;éct. Fven if these accounts are correct then there may still

&

be factors that can affect he quality of the financial information, for instance if there is

a change in the value of mgne?ﬁue to inflation, prices will rise which might cause

asset values and turnover to increase in money, terms. However when these figures are

w3 3

adjusted from the inflation there mlght ot be an increase in real terms. As ratios do
not show this, this may distort oompansons between different periods of time. As
ratios are based on guantitative information, any qualitative information is ignored.
For instance if there had been inflation and it may appear that the value of the fixed
assets and turnover has increased, there will be no explanation in the ratios for the
sudden increase, as far as stakeholders: would be aware this increase could have come
simply from a good year of busmess/ Sally’s business is currently facing mdlrect
threat of a proposed supermarket store that would sell some school uniforms, Sally’s
increasing stock turnover may in the future be a result of customers shopping at other

,a‘-

places like the szxpennarket ratios don’t take into account possible constriints Sally

may have such as being situated in a bad area where there is a lot of competition. In
order to evaluate and analyse a businesses performance effectively, both quantitative

and qualitative reasons needs to be considered.

\M:} 9_}\.)\;. &
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Task G

Sally’s strategic aim for ber first three years of trading was to survive, she has
achieved ‘};his. Now into her fourth year of business Sally has changed her aim to
improve the profitability of her business. The current state of Sally’s profitability is
more negative that positive, because from 2005 to 2006 both net profit and gross
profit has decreased/ net profit by 6.1% and gross profit by 10.85%. The only part of
Sally’s profitability that has improved is the return on capital employed To meet her
new aim of improving profitability there are a number of different things Sally can do

through different areas of her business.

Sally’s solvency ratios (liquidity ratios) assess the abilit? #of her business to pay its
bills. They focus on the short-term! assets and liabilities of her business. If Sally
wishes to apply for a loan for the expansion that she would like, then the bank would
be interested in her liquidity ra’ffgs to help them make their decisions Her Suppii/ers
are also mterested in these figures as they can help them to decide whether her
business is good for credit. Sa.lly herself will use them to make sure that her business
has enough liquid resourcgs (money flowing around the business) for her to operate
efﬁc:lenﬂ;, Sally’s liquidity ra‘ﬂos are good and show that she is running her busmess
efﬁcwnﬂy and that she can meét her bills. She has enough funds to pay the day to day
bills such as wages and invoice due for payment of materials. It is also important that
she has enough liquid assets, such as stock, to make sure that her business runs well
and that any orders or requests can be given to customers on time. Sally’s is a small
business and she needs less working capital than a 1arge business. I worked out the
working capital on Sally’s balance sheet. The current ratio is high at 7.13:1 as itis
said that current ratio should be between 1.5:1 and 2:1 :’f;f Sally had a low figure then

this could indicate that she runs the risk of running out of (iiquid asigﬁs and this would

mean that she might find herself in a position when she cannot pay her bills. Fora VS VP S

PRI TR S fg V)

figure to be more than 1:1 you could say that she has too man“}’jicurrent assets and she
could put those assets to better use which would help her to improve her profit. She
could run her stock levels down, or reduce her debtors or even buy more equipment

for her business. j,«’“/

e
i

The acid test ratio of 1.14:1 is a more realistic figure that shows her liquid assets

without stock. Stock is the most difficult liquid asset to change into cash at short

fowlz



Unit 14: Constructing A Financial Strategy 2

notice, and by excluding stocks the acid test ratio gives a better measure of her short
term liquidity than her current ratio. This sort of figure gives her sufficient Liquidity

to run her business efficiently and paying her bills on time. ~

As her liquidity ratios are too high then it proves that she has too ;;uch liquidity. She
could have too much cash and would be adviséd to invest some of this excess cash in
either cost saving equipment to help her earn higher proﬁts This is a reason why she
should invest in technology and creating web pages for her business. Sally has not

many debtors but it is always wise to make more ] effort to collect debts on time. fro b/

As Sally’s stock turnover is high, this means that she is hangin'ﬁgon to her stock too
long and she should be selling this at a faste"i'“%te. Stock turnover is very important
because the guicker her stock is used up the faster the stock turnover and the more
efﬁcxenﬂj";f the business will be using 1ts resources. Sally’s turnover of stock is slow
and means that she has money tied up in this, which shg:could be using elsewhere, for
example, she could use some of this money to pay off her loan, which will then fow
reduce her’ {é;lses Although some businesses turn stock over quickly Sally’s
school uniforms are more or less seasoﬁ/y and there is an upturn in her sales in the
summer months up to September If Sally can focus on increasing sales, and this can
be achieved through the marketing campaign [ have suggested and the introduction of
selling on-line, as well as maintaining the same level of stock, her stock turnover will
improve. Ve

Given the current external influences on Sally’s business I think that the next option is
the most suitable for Sally. Sally’s business is situated in an area which has bad public
transport, this stops more customers purchasing their uniform from her. As well as
this Connalton High School wiuch is a large school, is considering to change its
uniform to be less restrptwe to a polo shirt and jumper, this could resultin a
considerable decredse in the ‘demand for items such as school trousers and shoes, this
would have a direct effec? on profit and stock tumov‘er as 1ess of these items would be
sold compared to before. T have already shown that Sally needs to turn her stock over
more quickly, and because of the changes externally she rmght cons1der stocking
more general uniforf, although she cannot price this as cheaf)”fy as the large
companies can, but her reputation and personal service is always attractive to Fret {3

customers. This is because the most important external factor is that the local
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council’s planning committee is planning to build a supermarket just seven miles
away from Sally’s business, the supermarket would also stock school uniform. This is ’
a senous threat to Sally as many parents lead busy lives and so may find it more /
convement to purchase their child’s uniform whilst they are also doing their food

shop.

Considering these threats and the fact that Sally aims to improve her profitability, I

think Sally would be adyised to think about a marke ing campaign. This would get

her business reco gmsed by more of her target market and persuade them that they

should buy their uniform from her shop, therefore increasing profit. Sally has already

got a good reputation as she has started to gain customers from a primary school i a prinsy
nearby village, as they have heard about the high quality of clothing that Sally

provides, as this is what her target market seems to want she should emphas}ggs this in

her marketing campaign.

Sally’s policy of selling high quality clothes at a low mark up could be having an
influence on the fact that it is taking her longer to pay back ﬁécreditors, as she is
selling the products at a low price she is not making as much profit as she could be,
and therefore i/f; finding it difficult to pay them back. Sally should research into - ;*fl""'ff
finding new suppliers that offer a similar quality but at a cheaper price. If she can’t A
find this she should try and find creditors with a longer payment period. However if

Sally’s marketing campaign is successful then her stock turnover will mc%a;e as will

the gross profit which will mean that she can pay back supphers quicker. This will

increase Sally’s net profit as she will be able to get trade discounts which will

o

decrease her overheads.

Sally feels that the current size of her business is restrictive, as she is already paying
off a loan of £10,000 which is costing her £600 a year in interest. Sally should try to
avoid ta.kmg out another loan whilst she is paying off this one as she will have to pay

i =
back more interest which will increase her expenses and then decrease her net profit. % Lo
Vo

Whilst Sally is focusing on increasing her proﬁts I think that she shouid start saving ool

some of her profit to put towards expanding her business physically as in the size of e A

her shop. She can however expand her business in other ways which will increase her e 2T

profit. Sally should consider getting her partner Sunil Shah involved in her business
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as he is a web designer he could create Sally a professional website on which people
can place orders, this may be more convenient to her targé{ market and also attract
long dlstance from the shop. Part of her marketing campaign could be to targei"ghe
local schools She should get in touch with these schools an ))ropose that she sells
her uniform not only on parents evenf{gs and new intake evenings, but also supplying
the schools with some bulk umfo;:ms so that they are always available for parents
when they want them. She could also-offer an ordernfi”g service straight from the
schools. She could produce leafléts to give out at new- intake evenings and other
special evenings at school, and also distribute théﬁg in the local community. She
could also place an advert in the Jocal free papers. By doing this Sally will not only
generate more mterest in her business, and get herself more known, she will also
generate more proﬁt and a bigger customer ba/ge without actually expanding the
physical /,sme of the business. This is important because she hasn’t the room for
extenswn in the shop. It could be that she needs to redesign her shop to make use of

all the available space she has.

Sally’s new objective should be to focus on increasing her profits for the next three to
four years, after this she should focus on physically expanding her business by either
making her shop bigger or by opening another shop in a different area, this decision
will depeff/ d on how well she manages to 1mpr0tf her profit by. Failure to expand her
business in this way will mean that her business will be restricted to its current size
and won’t be able to get bigger and will continue to be under threat from the
supermarket and other large retailers. As well as this if Sally’s orders from either the
internet, by phone or from school becomes pqpular Sally will not have enough room
in her shop to stock her orders and her curfggt stock to sell in the shop, this will mean
that she will have to eventually (if she does not expand) rent storage space which will

then mean more overheads and therefore less profit.

I think that the most effectiviyay for Sally to improve her profit in the future is by
investing excess money in marketing as she i is facing a lot of external threats,
therefore she needs to build up her customer base even more, as she has a good
r@putat«iﬁn this will work in her favour, as will her being able to collect money from

her debtors quickly. If she continues to collect the money from he debtors quickly and

o
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she makes an effort to reduce her e%ﬁénses, and her sales increégé due to the
marketing campaign, this will mean that Sally will be able to pay back her,suppliers
quzcker beneﬁimg from trade discounts. More sales will also mean that there 18
h;é{e; stock turnover, this is good for Sally’s business as she is selling school
uniforms certain elements of them like for example school trousers tend to change as
fashion does, this means that if Sally’s stock is turned over at a faster pace she is not
keeping the clothes for too long and therefore is not keeping out dated clothes. If she
had out dated clothe&she would have to reduce them and sell them in a sale, this
would reduce proﬁts as Sally is losing mone}; ofi her stock this is the danger of

leaving excess money tied up in stock.

In conclusion, Sally’s solvelg,e{sﬁ m:good although there is wastage here and she can
put her hqmdf«f’égources to better use. Performance ratios show thg,pshe can improve
the efﬁcmncy of her business, by reducing her stock tumover«ff;/ me so that unwanted
uniforms are not teft on the shelf. Her business is efficient and she has reduced her
debtors collection period; although she is taking slightly longer to pay her creditors.
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